BRTEHLBT ER SCEF S T 1T
T = & ml (A3L) F 5= | 7 50 | =5 L
T = 4| HRHE P AERE AR i E A R T (£ 0D5)
T = % Al R R TAIR T R N
- L (i " 111,903,000 M |A fL #E 101,730,000 1
= GBZBLATs) | H # f #s (LB )
N H E T B S35 H10B EoR 852495
)WLEWLO)EIE#&EF%F)T SRS H2TH R 1ERE30%y A0 & T A fE 2 S a1
T M Rk OB E ~ SR4E3IH15H
T F o B | EETE EEEKE L, SRk LE A1
. AL EOR O O#H &
* A A WER] % 1 [\
1| BAesae (B%) © 100,000,000 % AL
2 | FHEP LR (BR) 101,700,000
3| (k) A 101,200,000
4 | HHEER (BR) 101,000,000
5| (BR) f& Esfi 101,500,000
6 | AL EE AR (BR) 100,700,000
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
T AR () SA A A| VK3 4 64 2 H
K O {E FRUE R0 H RN 2 — 62 MALER CRFE) 110,000,000 H
1% LA, ]\*L%%%Z(f%’ﬁm%iCCEEAéﬂf:(f:”%’EJ:\ MELAARD 100 5310 \FH X 944NN L7440
CHRZRRIC | RSO BIDHEEL, O GE Y IE T &H) Thd,
N AR le T RESL NS T RE ok (%)
ANFLNT HH A% (RK)




